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3amauga L-27.1.

)

B

Axmemos Haruc

a = 30°,

AB = 25, BC = 10,
BF =50, FD = 50,
NC =25, EH = 30,
FE =55, FG = 10,
OA =30, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T =[8,7.5,6.5,5] H.

Bacuavxos Hava

a = 45°,

AB = 25, BC = 10,
BF =50, FD = 50,
NC =25, EH = 30,
FE =35, FG = 25,
OA =30, KG = 25.

p =[0.1,0.3,0.35,0.25],
T = [8.5,7.5,6.5,5.5] H.

3amaua L-27.3.

Pz

Bacuavuenrxo Jarua

a = 30°,

AB =20, BC = 10,
BF =50, NF = 50,
CD =15, EH = 30,
FG = 10, GE = 26,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =18,7.5,6.5,5.5] H.




3amaua L-27.4.

Ezopos Cepeeti

D
& = a = 30°,
1B F N AB = 25, BC = 10,
2, BF =80, NF = 20,
o CD = 40, EH = 30,
/ FG =25, GE = 10,
HTS] OA =30, KG = 25.
T p=10.1,0.3,0.4,0.2],
T =[8,7.5,6.5,5] H.
3amaua L-27.5. 2Kyroe Andpeti
D ¢
= a = 30°,
AB = 30, BC = 30,
NB =60, NF = 15,
B N CD =15, EH = 30,
¢ e FE =35, FG = 10,
o) OA =30, KG = 25.
/ﬁ p = [0.05,0.35,0.35,0.25],
& T = [8.5,7.5,6.5,5) H.
A

3agaua L-27.6.

HUsanosa Hapvs

a = 30°,

AB = 10, BC = 30,

NB =50, NF = 15,

CD =50, EH = 30,

FE =15, FG = 20,

OA =20, KG = 25.

p = [0.05,0.35,0.35,0.25],
T = [8.5,7,6,5.5] H.

Komnaneey Kupuan

a = 30°,

AB =10, BC = 30,
NB =50, NF = 30,
CD =40, EH = 30,
FE =35, FG = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =8,7,6.5,5.5) H.




3amaua L-27.8.

Osuapenrxo Yavsana

a = 30°,

AB = 30, BC = 30,
NB =50, NF = 30,
CD =40, EH = 30,
FE =35, FG = 10,
OA =30, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =8,7,6.5,5.5) H.

Hempuuenxo Eausasema

a = 30°,

AB = 10, BC = 30,
NB =60, NF = 30,
CD =15, EH = 30,
FE =15, FG = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =18,7.5,6,5.5] H.

Pasananupuna Pandu

a = 30°,

AB = 25, BC = 10,
BF =80, NF = 20,
CD =40, EH = 30,
FG =25, GE = 10,
OA =30, KG = 25.
p=10.1,0.3,0.4,0.2],
T =[8,7,6.5,5] H.

3amaga L_27]V 1.

Crynosa Ioauna

a = 30°,

AB = 30, BC = 30,
DB =20, DF = 15,
NC =15, EH = 30,
FE =15, FG = 20,
OA =30, KG = 25.

p =[0.1,0.3,0.35,0.25],
T =8.5,7,6,5 H.




3anaya L-27.12. ILTupoxos Anexcandp

a = 30°,
g AB = 25, BC = 10,
/ BF =80, NF = 20,
CD =15, EH = 30,
FG =10, GE = 26,
OA =30, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T — [8,7.5,6,5) H.

3amauga L-27.13.

a = 30°,

AB =25, BC =10,
BF =50, NF = 50,
CD =25, EH = 30,
FG =25, GE = 10,
OA =30, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =1[8,7,6,5] H.

a = 30°,

AB = 30, BC = 30,

NB =50, NF = 30,

CD =50, EH = 30,

FE =15, FG = 20,

OA =30, KG = 25.

p = [0.05,0.35,0.35,0.25],
T =[8.5,7,6.5,5.5] H.

a = 30°,

AB = 30, BC = 30,
NB =60, NF = 15,
CD =15, EH = 30,
FE =15, FG = 20,
OA =30, KG = 25.
p=10.1,0.3,0.4,0.2],
T =1[8,7,6,5] H.




